REDUCED RELATIVE CLAUSES
(Ménh d@ lién hé rat gon)

MPDLH chi dwoc rat gon khi “who/ which/ that” lam chu ngir.

Cach rut gon MBLH:
BUOC 1: B6 DTLH (who/ which/ that)
BUOC 2: Pong tir & MPLH chia & 3 dang: V-ing, Ved/ V3, to infinitive

I. DUng “V-ing” : khi d.tlr & MDLH dung & thé ch déng

1/ Some employees who have to work late will be provided with taxis.

— Some employees having to work late will be provided with taxis.

2/ The people who are crossing the street are trying to get a better view.
— The people crossing the street are trying to get a better view.

Il. Dung “Ved/ V5" : khi d.tlr dung & thé bj déng

1/ All the candidates who were selected were given a second interview.
— All the candidates selected were given a second interview.

2/ Cars that are left here after 11pm will be locked into the carpark.

— Cars left here after 11pm will be locked into the carpark.

3/ Yesterday | read a book which was written by Hemingway.

— Yesterday | read a book written by Hemingway.

4/ This is the painting which was not sold during the exhibition.

= This is the painting not sold during the exhibition.

+* being + Ved/ V3 : khi d.tlr dung & thé bi dong clia thi HT ti€p dién/ QK ti€p dién
We are concerned about the people who are being held in prison without a trial.
— We are concerned about the people being held in prison without a trial.

lll. Dung “to infinitive” Khi MDLH drng sau:

1/ S6 thu ty: the first, the second, ..... the last.

* Neil Armstrong was the first person who walked on the moon.
— Neil Armstrong was the first person to walk on the moon.

2/ the only:

* He is the only person who thanked me.

— He is the only person to thank me.

3/ So sdnh nhdt: the best, the youngest, the most interesting, ...
* Nancy was the youngest that won the gold medal.

— Nancy was the youngest to win the gold medal.

IV. Ding “to be + Ved/\i3” khi két hop Il va Il
» She was the last person who was taken on the ambulance.
— She was the last person to be taken on the ambulance.




NOTES:

1 Khi MBLH c6 dt “ to be” va sau c6 cum danh tir, ta bé DTLH va to be

- Glasgow, which is the largest city in Scotland, lies on the River Clyde.

— Glasgow, the largest city in Scotland, lies on the River Clyde.

- Peter Donaldson, who is our manager, graduated in chemical engineering.
— Peter Donaldson, our manager, graduated in chemical engineering.

2/ Khi MBLH c6 cum tir chi no'i chén, bé BTLH va “to be” - diung cum gidi tir:

* The books which are on the table are mine.

— The books on the table are mine.

3/ Khi MBPLH c6 tinh tir sau “to be”, b BDTLH va “to be” - dung tinh tir:

* There was one seat which was available on the flight.

— There was one seat available on the flight.

4/ MPLH dung THAT/WHOM & vi tri tén ngi¥ + déng tir diung must/ have to — b6 WHOM/
THAT,.. va rut gon bang cdch dung to inf.

+ | have a lot of homework that | must do.

— | have a lot of homework to do.

5/ Khi dtir & dang pha dinh, ta dung “NOT” trwdc dang dt rut gon
= |’d prefer shirts which aren’t made with polyester.
— I'd prefer shirts not made with polyester.
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WHOEVER/ WHATEVER/ WHICHEVER:

We will work with whoever they send.

Whoever said those things is mistaken.

Whatever she did made them happy.

If you take the big boxes, I'll take whatever is left.

Write in pen or pencil, whichever you prefer.

I’ll go by train or bus, whichever is cheaper.



